M3BOAHAA YHKI

Yuurenap MaTeMaTUKHU
I'BOY COII Ne 136
I'py3neBa Cerinana MiBaHoBHa



llpasuna ebiyucneHuUs
MpPou3800HbIX




absiuua npou3eo0HbIX




Tabsiuua npou3eo00HbIX
DYHKUUU
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YcmHbie ynpaxHeHUs

Hauoume rnpou3e00HbIe byHKUUU :
Dg(x)=x"-3x+4
Omeem : & (x)=2x-3

2) f(x)=3x*=T7x" +2x° + 1
Omeem: f'(x)=12x" —21x° +4x
3) h(x)=(2x+1)°
Omeem: h'(x) =4(2x+1)




YcmHbie ynpaxHeHUs

1) g(x) = (1-2)°
Omeem : g'(x) =-3(1— x)2

5) £(x)=x> =3
Omeem : f'(x)=

X
\/x2—3




YcmHbie ynpaxHeHUs

6) y =sin2x

Omeem: y' =2cos2x

7) f(x)=1tg3x

Omeem: f'(x)= &

cos” 3x




YcmHbie ynpaxHeHUs

8) y =sin” x
Omeem : y' =sin2x

9) y =cos” x+sin” x

Omeem: y' =0




lopewaem?...

Hauoume 3HayeHue rnpou3eooHoU

yHkyuu f (x) = smodix + 1 X = 3
PeweHue 2

f'(x) =3cos3x;




Haudume owubky

1) Hauoume npou3800HYyt0 ¢byHKUUU

f(x)=x" +sinx

PeweHue

f'(x)=12x+cosx




Haudume owubky

1) Hauoume npou3800HYyt0 ¢byHKUUU

f(x)=(-3+6x)’

PeweHue

£'(x)=7(=34+6x)°




Haudume owubky

1) Hauoume npou3800HYyt0 ¢byHKUUU

fx)=x' -+

X
PeweHue

f0) =4 4







